Problem Set: Rotations
	In the accompanying graph, if point P has coordinates (a,b), which point has coordinates (–b,a)?
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(1) A 


(3) C

(2) B 


(4) D



	If x = –3 and y = 2, which point on the accompanying graph represents (–x,–y)?
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(1) P 


(3) R

(2) Q 


(4) S



	If point (5,2) is rotated counterclockwise 90° about the origin, its image will be point

(1) (2, 5) 
(3) (-2, 5)

(2) (2, -5) 
(4) (-5, -2)


	The accompanying diagram shows the starting position of the spinner on a board game.
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How does this spinner appear after a 270° counterclockwise rotation about point P?
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